For: Annual Contract for Mud Sump Service & Drain Line Cleaning LOCAL Number Status 6100005424 HH SOS Liquid Waste Haulers, Ltt. C. SoS Liquid Events Liquid Events Liquid Events 8ection 1 Building & Equipment Soc Dept & SWMD 1375 Creekview TX 70003 1 Central Shops, 329 S. Frio Wash Stati (CS-W1) 6 S280.00 TX 7003 2 Onlymater Separator (CS-W1) Protes Der Service Subtotal 4 S280.00 S280.00 2 Nontest SC, 1003 Tool Yard Manual Carwash (TY-MCW1) Prote Per Service Subtotal 6 S560.00 2 Nontest SC, 1003 Tool Yard Manual Carwash (TY-MCW2) 6 S560.00 2 Nontest SC, 1003 Tool Yard Manual Carwash (TY-MCW2) 6 S560.00 2 Manual Carwash (TY-MCW2) 6 S560.00 Subtotal Statotal S3.360.00 S480.00 Manual Carwash (TY-MCW3) Price Per Service Subtotal S560.00 S560.00 Note Per Service Subtotal S560.00 S560.00 Oil Sump Trap (TY-OST2) Price Per Service Subtotal 4 S560.00 Oil Sump Trap (TY-OST2) Price Per Serv	
UCCAL UCCAL UCCAL Utquid Environ 6100005424 HH 1375 Creekview San Antonio, TAR 219 7751 Elerse BI Item Description Counting 1275 Creekview San Antonio, TAR 219 7761 Elerse BI Section 1 Building & Equipment Sxc Dept & SWMD 6 S280.00 77.87003 1 Central Stops, 329 S. Frio Wash Stall (CS-W1) 6 S280.00 51.680.00 2 Orivers Separator (CS-OWS1) Price Per Service Subtotal 6 S280.00 51.680.00 2 Price Per Service Subtotal 6 S280.00 51.680.00 2 Norheast SC, 10203 Tod Yard Manual Carwash (TY-MCW2) Price Per Service Subtotal 6 S560.00 3 Manual Carwash (TY-MCW2) Price Per Service Subtotal 6 S560.00 4 S280.00 S3.380.00 S3.380.00 4 S280.00 S3.380.00 S3.380.00 5 Subtotal S3.380.00 S3.380.00 4 S560.00 S3.380.00 S3.380.00 5 Subtotal S560.00	
Bit Notes Heri Tosa LLC Tosa LLC Item Description San Antonio, Annual Quantity 21/0-32/2527 Prof. Prof. Prof. 21/0-32/2527 Section 1 Building & Equipment Svc Dept & SWMD 6 S220.00 Prof. Prof. Prof. Prof. School S220.00 1 Central Shope, 329 S. Frio Water Separator (CS-OWS1) Prof. Per Service Subtotal 4 S220.00 S200.00 20 Water Separator (CS-OWS1) Prof. Per Service Subtotal 6 S280.00 S11.200.00 21 Northeast SC, 10303 Tool Yard Manual Carwath (TV-MCW1) Prof. Per Service Subtotal 6 S504.00 S504.00 24 Montheast SC, 10303 Tool Yard Manual Carwath (TV-MCW2) Prof. Per Service Subtotal 6 S508.000 S508.000 24 Monual Carwath (TV-MCW1) Price Per Service Subtotal 6 S508.000 S508.000 300/Water Separator (TV-OWS1) Price Per Service Subtotal 4 S508.000 S508.000 300/Water Separator (TV-OWS1) Price Per Service Subtotal 4 S508.000 S508.000 300/Water Separator (TV-OWS1) Price Per Service Subtotal 5 S608.000 S508.000 S508.000 S508.000	N-LOCAL
Item Description Estimate Annual Quantity San Anonio, 210:342-5257 Ifving, TX 75053 Section 1 Building & Equipment Svc Dept & SWMD 6 5280.00 1 Central Shops, 329 S. Frio Wath Stati (CS-VI) Price Per Service Subtotal 6 5280.00 210:342-5257 Stati (CS-VI) Price Per Service Subtotal 4 5280.00 24 Mortheast CC, 10303 Tool Yard Manual Carwak (TV-MCW1) Price Per Service Subtotal 6 5504.00 2 Northeast CC, 10303 Tool Yard Manual Carwak (TV-MCW1) Price Per Service Subtotal 6 5500.00 2 Mortheast CC, 10303 Tool Yard Manual Carwash (TV-MCW3) Price Per Service Subtotal 6 5500.00 3 Manual Carwash (TV-MCW3) Price Per Service Subtotal 6 5560.00 Manual Carwash (TV-MCW4) Price Per Service Subtotal 6 5560.00 Subtotal 53.360.00 53.360.00 OliWater Separator (TV-OWS1) Price Per Service Subtotal 5260.00 53.360.00 OliWater Separator (TV-OWS1) Price Per Service Subtotal 4 5260.00 OliWater Separator (TV-OWS1) Price Per Service Subtotal 53.360.00 53.360.00 Oli Sump Trap (TV-	
Item Description Quantity 210-342-5257 TX 75063 Section 1 Building & Equipment Svc Dept & SWMD 6 5280.00 5280.00 1 Central Shops, 328 S. Frio Water Separator (CS-OWS1) Price Per Service Subtral 4 5280.00 51.880.00 2 Northeast SC, 10303 Tool Yard Manual Carwach (TY-MCW1) Price Per Service Subtral 6 5504.00 2 Northeast SC, 10303 Tool Yard Manual Carwach (TY-MCW1) Price Per Service Subtral 6 5506.00 3 Manual Carwach (TY-MCW2) Price Per Service Subtral 6 5560.00 Manual Carwach (TY-MCW3) Price Per Service Subtral 6 5560.00 Manual Carwach (TY-MCW4) Price Per Service Subtral 6 5560.00 Manual Carwach (TY-MCW4) Price Per Service 6 5560.00 Subtral Subtral 53.360.00 53.360.00 Auto Car Wash (TY-MCW4) Price Per Service Subtral 6 5560.00 53.360.00 QUWater Separator (TY-OWS1) Price Per Service Subtral 4 5560.00 53.360.00 QUWater Separator (TY-OWS2) Price Per Service Subtral 52.240.00 53.360.00 53.360.00	rd, Suite 200
Section 1 Building & Equipment Svc Dept & SWMD 1 Central Shops, 329 S. Frio Wash Stall (CS-W1) Price Per Service Subtotal 6 2 Northeast SC, 10003 Tool Yard Manual Carwash (TY-MCW1) Price Per Service Subtotal 4 2 Northeast SC, 10003 Tool Yard Manual Carwash (TY-MCW1) Price Per Service Subtotal 6 3 Oti Zarwash (TY-MCW2) Price Per Service Subtotal 6 Manual Carwash (TY-MCW3) Price Per Service Subtotal 6 Manual Carwash (TY-MCW3) Price Per Service Subtotal 6 Manual Carwash (TY-MCW4) Price Per Service 6 Subtotal 53,360,00 Manual Carwash (TY-MCW4) Price Per Service 6 Subtotal 53,360,00 Marual Carwash (TY-MCW4) Price Per Service 6 Subtotal 53,360,00 OliWater Separator (TY-OWS1) Price Per Service 4 Subtotal 53,224,00 OliWater Separator (TY-OWS1) Price Per Service 4 Subtotal 53,360,00 OliWater Separator (TY-OWS1) Price Per Service 4 Subtotal 53,2240,00 OliWater Separator (TY-OWS1) Price Per Service 52,240,00 <	
1Central Shops, 329 S. Frio Wash Stall (CS-W1) Price Per Service Subtotal65280.001Central Shops, 329 S. Frio Wash Stall (CS-W1) Price Per Service Subtotal452.800.002Mortheast SC, 1033 Tool Yard Manual Carwash (TY-MCW1) Price Per Service Subtotal65504.002Mortheast SC, 1033 Tool Yard Manual Carwash (TY-MCW2) Price Per Service Subtotal65504.003Manual Carwash (TY-MCW2) Price Per Service Subtotal65560.00Manual Carwash (TY-MCW3) Price Per Service Subtotal65560.00Manual Carwash (TY-MCW3) Price Per Service Subtotal65560.00Manual Carwash (TY-MCW4) Price Per Service Subtotal65560.00Manual Carwash (TY-MCW4) Price Per Service Subtotal65560.00Manual Carwash (TY-MCW4) Price Per Service Subtotal65560.00Auto Car Wash (TY-ACW1) Price Per Service Subtotal65560.00Oli/Water Separator (TY-OWS1) Price Per Service Subtotal45560.00Oli/Water Separator (TY-OWS2) Price Per Service Subtotal45280.00Oli Sump Trap (TY-OST1) Price Per Service Subtotal45280.00Oli Sump Trap (TY-OST2) Price Per Service Subtotal45280.003 <th></th>	
Wash Stall (CS-W1) 6 5280.00 Price Per Service \$1,680.00 \$1,680.00 OliWater Separator (CS-OW S1) 4 \$2,280.00 Price Per Service \$11,200.00 \$11,200.00 2 Northeast SC, 1033 Tod Yard 6 \$504.00 Manual Carwash (TY-MCW1) 6 \$504.00 Price Per Service \$3,024.00 \$3,024.00 Manual Carwash (TY-MCW2) 6 \$560.00 Price Per Service \$3,000 \$3,380.00 Manual Carwash (TY-MCW3) 6 \$560.00 Price Per Service \$3,360.00 \$3,380.00 Manual Carwash (TY-MCW4) 6 \$560.00 Price Per Service \$3,380.00 \$3,380.00 Auto Car Wash (TY-ACW1) 6 \$504.00 Subtotal \$3,3262.00 \$3,3262.00 OliWater Separator (TY-OWS1) 4 \$560.00 Subtotal \$3,224.00 \$2,240.00 OliWater Separator (TY-OWS2) 4 \$280.00 Subtotal \$3,380.00 \$3,380.00 <	
SubtotalSubtotal\$1,680.00Oli/Water Separator (CS-OWS1) Subtotal4\$2,280.002Northeast SC, 10303 Tool Yard Manual Carwash (TV-MCW1) Price Per Service Subtotal6\$504.002Manual Carwash (TV-MCW2) Price Per Service6\$504.00Subtotal6\$504.00Manual Carwash (TV-MCW2) Price Per Service6\$500.00Subtotal6\$560.00Manual Carwash (TV-MCW3) Price Per Service6\$500.00Subtotal6\$560.00Manual Carwash (TV-MCW4) Price Per Service6\$500.00Subtotal6\$560.00Subtotal53.360.00\$33.360.00Auto Car Wash (TV-ACW1) Price Per Service6\$504.00Subtotal53.024.00\$3.302.00Oli/Water Separator (TV-OWS1) Price Per Service4\$5.02.00Subtotal53.024.00\$2.240.00Oli/Water Separator (TV-OWS2) Price Per Service4\$2.240.00Subtotal\$2.240.00\$2.240.00Oli/Water Separator (TV-OWS2) Price Per Service4\$3.33.00.00Subtotal\$3.300.00\$3.300.00Oli/Water Separator (TV-OWS2) Price Per Service4\$3.33.00.00Subtotal\$3.300.00\$3.300.00Subtotal\$3.300.00\$3.300.00Subtotal\$3.300.00\$3.300.00Oli/Water Separator (Ch-OWS1) Price Per Service4Price Per Service Subtotal\$3.300.00Subtotal\$4.400.00 <td></td>	
Price Per ServiceS2,800.002Northeast SC, 10303 Tool Yard Manual Carwash (TY-MCW1)62Montheast SC, 10303 Tool Yard Manual Carwash (TY-MCW1)62Manual Carwash (TY-MCW2) Price Per Service6Subtotal\$3,800.00Manual Carwash (TY-MCW3) Price Per Service6Subtotal\$3,360.00Manual Carwash (TY-MCW3) Price Per Service6Subtotal\$3,360.00Manual Carwash (TY-MCW4) Price Per Service6Subtotal\$3,360.00Auto Car Wash (TY-ACW1) Price Per Service6Subtotal\$3,024.00Oil/Water Separator (TY-OWS1) Price Per Service4Subtotal\$2,240.00Oil/Water Separator (TY-OWS2) Price Per Service4Subtotal\$2,240.00Oil/Subtotal\$2,240.00Oil/Subtotal\$2,240.00Oil/Subtotal\$2,240.00Oil/Subtotal\$2,240.00Oil/Subtotal\$2,240.00Oil/Subtotal\$2,240.00Oil/Subtotal\$2,240.00Oil/Subtotal\$2,240.00Oil/Subtotal\$2,240.00Oil/Subtotal\$2,240.00Subtotal\$1,120.00Auto Car Wash (CA-CWV) Price Per Service4Subtotal\$1,120.00Auto Car Wash (CA-ACW) Price Per Service6Subtotal\$3,024.00Subtotal\$1,120.00Auto Car Wash (CA-ACW) Price Per Service6Subtotal\$3,024.00Subtotal\$3,024.	\$1,280.00 \$7,680.00
SubtotalSubtotal\$11,200,002Northeast SC, 10303 Tool Vard Manual Carwash (TY-MCW1) Price Per Service Subtotal6\$504,00Manual Carwash (TY-MCW2) Price Per Service Subtotal6\$560,00Subtotal\$3,300,006\$560,00Subtotal\$3,300,006\$560,00Subtotal\$3,300,006\$560,00Subtotal\$3,300,006\$560,00Subtotal\$3,300,006\$560,00Subtotal\$3,300,006\$560,00Subtotal\$3,300,006\$560,00Subtotal\$3,360,00\$3,360,00Auto Car Wash (TY-MCW4) Price Per Service6\$560,00Subtotal\$3,360,00\$3,360,00Auto Car Wash (TY-MCW1) Price Per Service6\$560,00Subtotal\$3,360,00\$3,024,00OllWater Separator (TY-OWS1) Price Per Service4\$560,00Subtotal\$2,240,00\$2,240,00OllWater Separator (TY-OWS2) Price Per Service4\$280,00Subtotal\$2,240,00\$3,360,00OllSump Trap (TY-OST2) Price Per Service4\$2,280,00Subtotal\$1,120,00\$1,120,00Subtotal\$1,120,00\$1,120,00Subtotal\$3,3024,00\$1,120,00Subtotal\$3,3024,00\$1,120,00Subtotal\$1,120,00\$1,120,00Subtotal\$1,120,00\$1,120,00Subtotal\$3,3024,00\$1,120,00Subtotal\$3,3024,	
2 Northeast SC, 10303 Tool Vard Manual Carwash (TY-MCW1) Price Per Service Subtotal 6 \$\$64.00 \$3,024.00 Manual Carwash (TY-MCW2) Price Per Service Subtotal 6 \$\$60.00 \$3,060.00 Manual Carwash (TY-MCW3) Price Per Service Subtotal 6 \$\$560.00 \$3,060.00 Manual Carwash (TY-MCW4) Price Per Service Subtotal 6 \$\$560.00 \$3,060.00 Manual Carwash (TY-MCW4) Price Per Service Subtotal 6 \$\$560.00 \$3,060.00 Auto Car Wash (TY-ACW1) Price Per Service Subtotal 6 \$\$560.00 \$3,024.00 Oli Watter Separator (TY-OWS1) Price Per Service 4 \$\$560.00 \$2,2240.00 Oli Watter Separator (TY-OWS2) Price Per Service 4 \$\$560.00 \$2,2240.00 Oli Watter Separator (TY-OWS2) Price Per Service 4 \$\$560.00 \$2,2240.00 Oli Watter Separator (TY-OWS2) Price Per Service 4 \$\$560.00 \$2,2240.00 Oli Sump Trap (TY-OST1) Price Per Service 4 \$\$2,800.00 \$3,3360.00 Subtotal \$\$1,120.00 \$\$1,120.00 3 Callaghan SC, 110 Callaghan Rd OlWatter Separator (CA-OW1) Price Per Service Subtotal \$\$1,120.00 Auto Car Wash (CA-ACW) Price Per Service Subtotal \$\$1,200.00 \$\$1,120.00 \$\$1,680.00 \$\$1,060.00	\$6,230.00 \$24,920.00
Manual Carwash (TV-MCW1) Price Per Service65504.00Manual Carwash (TV-MCW2) Price Per Service6\$500.00Subtotal6\$560.00Subtotal53,360.00Manual Carwash (TV-MCW3) Price Per Service6\$560.00Manual Carwash (TV-MCW4) Price Per Service6\$560.00Manual Carwash (TV-MCW4) Price Per Service6\$560.00Subtotal\$3,360.00\$3,360.00Manual Carwash (TV-MCW4) Price Per Service6\$560.00Subtotal\$504.00\$3,360.00Subtotal\$504.00\$3,360.00Subtotal\$504.00\$504.00Subtotal\$504.00\$3,360.00Subtotal\$504.00\$504.00Subtotal\$504.00\$504.00Subtotal\$504.00\$504.00Subtotal\$500.00\$504.00Subtotal\$52,240.00\$52,240.00Oil/Water Separator (TV-OWS2)4\$560.00Subtotal\$2,240.00\$2,240.00Oil/Sump Trap (TY-OST1)4\$540.00Subtotal\$3,380.00\$1,120.00Subtotal\$1,120.00\$1,120.00Subtotal\$1,120.00\$1,120.00Subtotal\$1,120.00\$1,120.00Subtotal\$3,3024.00\$3,024.00Subtotal\$1,120.00\$1,120.00Subtotal\$1,120.00\$1,120.00Subtotal\$3,024.00\$3,024.00Subtotal\$3,024.00\$3,024.00Subtotal\$1,120.00\$1	
SubtotalSubtotal\$3,024.00Manual Carwash (TY-MCW2) Price Per Service Subtotal6\$560.00Manual Carwash (TY-MCW3) Price Per Service Subtotal6\$560.00Manual Carwash (TY-MCW4) Price Per Service6\$560.00Subtotal6\$560.00Subtotal6\$560.00Subtotal6\$560.00Subtotal6\$560.00Subtotal6\$560.00Subtotal53,380.00Auto Car Wash (TY-ACW1) Price Per Service6\$5504.00Subtotal53,024.00\$3,024.00OilWater Separator (TY-OWS1)4\$560.00Subtotal\$2,240.00\$2,240.00OilWater Separator (TY-OWS2)4\$560.00Subtotal\$2,240.00\$3,380.00Oil Sump Trap (TY-OST1) Price Per Service4\$22,240.00Oil Sump Trap (TY-OST2) Price Per Service4\$22,240.00Oil Sump Trap (TY-OST2) Price Per Service4\$24,000Subtotal\$3,380.00\$1,120.003Callaghan SC, 110 Callaghan Rd Subtotal\$3,024.00Auto Car Wash (CA-ACW) Price Per Service6\$504.00Subtotal\$3,024.00\$3,024.00Auto Car Wash (CA-ACW) Price Per Service6\$504.00Subtotal\$3,024.00\$3,024.00Auto Car Wash (CA-ACW) Price Per Service6\$504.00Subtotal\$3,024.00\$3,024.00Subtotal\$3,024.00\$3,024.00Subtotal	¢4 700 00
Price Per Service\$560.00Subtotal\$3,360.00Manual Carwash (TY-MCW3)6Price Per Service\$560.00Subtotal\$3,380.00Manual Carwash (TY-MCW4)6Price Per Service\$560.00Subtotal\$3,380.00Auto Car Wash (TY-ACW1)6Price Per Service\$504.00Subtotal\$3,024.00Oil/Water Separator (TY-OWS1)4Price Per Service\$560.00Subtotal\$2,240.00Oil/Water Separator (TY-OWS2)4Price Per Service\$560.00Subtotal\$2,240.00Oil/Water Separator (TY-OWS2)4Price Per Service\$560.00Subtotal\$2,240.00Oil/Water Separator (TY-OWS2)4Price Per Service\$580.00Subtotal\$2,240.00Oil Sump Trap (TY-OST1)4Price Per Service\$240.00Subtotal\$1,120.00Subtotal\$1,120.00Subtotal\$1,120.00Subtotal\$3,024.00Auto Car Wash (CA-ACW)6Price Per Service\$504.00Subtotal\$3,024.00Auto Car Wash (CA-ACW)6Price Per Service\$1,120.00Subtotal\$3,024.00Manual Carwash (CA-MCW)6Price Per Service\$1,680.00Subtotal\$1,680.00Subtotal\$1,0,80.00	\$1,720.00 \$10,320.00
SubtotalSubtotal\$3,360.00Manual Carwash (TY-MCW3)6\$560.00Price Per Service\$560.00Subtotal\$3,360.00Manual Carwash (TY-MCW4)6Price Per Service\$560.00Subtotal\$3,360.00Auto Car Wash (TY-ACW1)6Price Per Service\$504.00Subtotal\$3,320.00Auto Car Wash (TY-ACW1)6Price Per Service\$504.00Subtotal\$3,3224.00Oil/Water Separator (TY-OWS1)4Price Per Service\$560.00Subtotal\$2,240.00Oil/Water Separator (TY-OWS2)4Price Per Service\$580.00Subtotal\$2,240.00Oil Sump Trap (TY-OST1)4Price Per Service\$280.00Subtotal\$3,360.00Oil Sump Trap (TY-OST2)4Price Per Service\$280.00Subtotal\$1,120.00Subtotal\$1,120.00Subtotal\$3,024.00Auto Car Wash (CA-ACW)6Price Per Service\$3,024.00Auto Car Wash (CA-ACW)6Price Per Service\$1,120.00Subtotal\$3,024.00Auto Car Wash (CA-MCW)6Price Per Service\$1,680.00Subtotal\$1,0,80.00	
Price Per Service\$\$60.00Subtotal\$3,360.00Manual Carwash (TY-MCW4)6Price Per Service\$\$60.00Subtotal\$3,360.00Auto Car Wash (TY-ACW1)6Price Per Service\$\$504.00Subtotal\$3,024.00OliWater Separator (TY-OWS1)4Price Per Service\$\$60.00Subtotal\$\$2,240.00OliWater Separator (TY-OWS2)4Price Per Service\$\$60.00Subtotal\$\$2,240.00Oli Sump Trap (TY-OST1)4Price Per Service\$\$3,360.00Subtotal\$\$2,240.00Oli Sump Trap (TY-OST1)4Price Per Service\$\$3,360.00Subtotal\$\$2,240.00Oli Sump Trap (TY-OST2)4Price Per Service\$\$280.00Subtotal\$\$1,120.00Subtotal\$\$1,120.00Subtotal\$\$1,120.00Subtotal\$\$3,024.00Auto Car Wash (CA-ACW)6Price Per Service\$\$1,020.00Subtotal\$\$1,080.00Subtotal\$\$1,080.00Subtotal\$\$1,080.00Subtotal\$\$1,080.00	\$1,911.00 \$11,466.00
SubtotalSubtotal\$3,360.00Manual Carwash (TY-MCW4) Price Per Service6\$560.00Subtotal\$3,360.00\$3,360.00Auto Car Wash (TY-ACW1) Price Per Service6\$504.00Subtotal\$3,024.00\$3,024.00Oil/Water Separator (TY-OWS1) Price Per Service4\$560.00Subtotal\$2,240.00\$2,240.00Oil/Water Separator (TY-OWS2) Price Per Service4\$560.00Subtotal\$2,240.00\$2,240.00Oil/Water Separator (TY-OWS2) Price Per Service4\$560.00Subtotal\$2,240.00\$2,240.00Oil/Water Separator (TY-OWS2) Price Per Service4\$560.00Subtotal\$2,240.00\$2,240.00Oil/Water Separator (TY-OWS2) Price Per Service4\$260.00Subtotal\$1,20.00\$3,360.00Subtotal\$2,240.00\$1,120.00Oil Sump Trap (TY-OST2) Price Per Service4\$280.00Subtotal\$1,120.00\$1,120.003Callaghan SC, 110 Callaghan Rd OliWater Separator (CA-OW1) Price Per Service4\$3,024.003Callaghan SC, 110 Callaghan Rd OliWater Separator (CA-OW1) Price Per Service5\$3,024.003Callaghan SC, 110 Callaghan Rd OliWater Separator (CA-ACW) Price Per Service\$3,024.00\$3,024.00Auto Car Wash (CA-ACW) Price Per Service6\$1,680.00\$3,024.00Subtotal\$1,080.00\$10,080.00\$10,080.00\$10,080.00	
Manual Carwash (TY-MCW4) Price Per Service Subtotal65560.00 \$\$560.00Auto Car Wash (TY-ACW1) Price Per Service Subtotal6\$504.00 \$\$0.00OliWater Separator (TY-OWS1) Price Per Service Subtotal4\$560.00 \$\$2,240.00OliWater Separator (TY-OWS2) Price Per Service Subtotal4\$560.00 \$\$2,240.00Oli Water Separator (TY-OWS2) Price Per Service Subtotal4\$560.00 \$\$2,240.00Oli Sump Trap (TY-OST1) Price Per Service Subtotal4\$5840.00 \$\$3,360.00Oli Sump Trap (TY-OST2) Price Per Service Subtotal4\$2280.00 \$\$1,120.003Callaghan SC, 110 Callaghan Rd OliWater Separator (CA-OW1) Price Per Service Subtotal4\$11,120.00 \$\$3,024.003Callaghan SC, 110 Callaghan Rd OliWater Separator (CA-OW1) Price Per Service Subtotal4\$11,120.00 \$\$3,024.004Statutal Statutal Statutal51,120.00 \$\$3,024.00\$11,120.00 \$\$3,024.003Callaghan SC, 110 Callaghan Rd OliWater Separator (CA-ACW) Price Per Service Subtotal6\$504.00 \$3,024.004Statutal Statutal Statutal\$1,120.00 \$3,024.00\$11,120.00 \$3,024.004Statutal Statutal Statutal\$11,120.00 \$3,024.005Subtotal Statutal\$11,120.00 \$3,024.005Statutal Statutal\$11,120.00 \$3,024.004Statutal Statutal\$11,120.00 \$3,024.005Statutal Statutal\$11,680.00 \$10,080.00	\$1,911.00 \$11,466.00
Price Per Service\$560.00SubtotalAuto Car Wash (TY-ACW1)6Price Per Service\$504.00Subtotal\$3,024.00Oil/Water Separator (TY-OWS1)4Price Per Service\$560.00Subtotal\$2,240.00Oil/Water Separator (TY-OWS2)4Price Per Service\$560.00Subtotal\$2,240.00Oil/Water Separator (TY-OWS2)4Price Per Service\$560.00Subtotal\$2,240.00Oil Sump Trap (TY-OST1)4Price Per Service\$840.00Subtotal\$3,360.00Oil Sump Trap (TY-OST2)4Price Per Service\$2280.00Subtotal\$1,120.00Subtotal\$1,120.003Calaghan SC, 110 Callaghan RdOil/Water Separator (CA-OW1)4Price Per Service\$1,120.00Subtotal\$3,024.00Auto Car Wash (CA-ACW)6Price Per Service\$1,680.00Subtotal\$3,024.00Auto Car Wash (CA-ACW)6Price Per Service\$1,680.00Subtotal\$1,0080.00	
Auto Car Wash (TY-ACW1) Price Per Service Subtotal650000Qil/Water Separator (TY-OWS1) Price Per Service Subtotal4\$560.00Qil/Water Separator (TY-OWS2) Price Per Service Subtotal4\$560.00Qil/Water Separator (TY-OWS2) Price Per Service Subtotal4\$560.00Qil/Water Separator (TY-OWS2) Price Per Service 	\$1,911.00 \$11,466.00
Price Per Service\$504.00Subtotal\$3,024.00Oil/Water Separator (TY-OWS1)4Price Per Service\$560.00Subtotal\$2,240.00Oil/Water Separator (TY-OWS2)4Price Per Service\$560.00Subtotal\$2,240.00Oil Sump Trap (TY-OST1)4Price Per Service\$840.00Subtotal\$1,2240.00Oil Sump Trap (TY-OST1)4Price Per Service\$2,240.00Subtotal\$1,120.00Oil Sump Trap (TY-OST2)4Price Per Service\$2,280.00Subtotal\$1,120.003Callaghan SC, 110 Callaghan Rd Oil/Water Separator (CA-OW1)4Price Per Service\$1,120.00Subtotal\$1,120.00Auto Car Wash (CA-ACW)6Price Per Service\$3,024.00Subtotal\$3,024.00Manual Carwash (CA-MCW)6Price Per Service\$1,680.00Subtotal\$10,080.00	\$11,400.0C
Oil/Water Separator (TY-OWS1)4Price Per Service\$560.00Subtotal\$2,240.00Oil/Water Separator (TY-OWS2)4Price Per Service\$560.00Subtotal\$2,240.00Oil Sump Trap (TY-OST1)4Price Per Service\$840.00Subtotal\$3,360.00Oil Sump Trap (TY-OST2)4Price Per Service\$2280.00Subtotal\$1,120.00Gallaghan SC, 110 Callaghan Rd\$1,120.00Oil/Water Separator (CA-OW1)4Price Per Service\$1,120.00Subtotal\$1,120.00Auto Car Wash (CA-ACW)6Price Per Service\$3,024.00Manual Carwash (CA-MCW)6Price Per Service\$1,680.00Subtotal\$10,090.00	\$1,720.00
Price Per Service\$\$60.00Subtotal\$2,240.00Oil/Water Separator (TV-OWS2)4Price Per Service\$560.00Subtotal\$2,240.00Oil Sump Trap (TY-OST1)4Price Per Service\$840.00Subtotal\$3,360.00Oil Sump Trap (TY-OST2)4Price Per Service\$280.00Subtotal\$1,120.003Callaghan SC, 110 Callaghan RdOil/Water Separator (CA-OW1)4Price Per Service\$1,120.00Subtotal\$1,120.00Auto Car Wash (CA-ACW)6Price Per Service\$3,024.00Manual Carwash (CA-MCW)6Price Per Service\$1,680.00Subtotal\$10,080.00	\$10,320.00
Oil/Water Separator (TY-OWS2)4Price Per Service\$560.00Subtotal\$2,240.00Oil Sump Trap (TY-OST1)4Price Per Service\$3,360.00Oil Sump Trap (TY-OST2)4Price Per Service\$280.00Subtotal\$1,120.003Callaghan SC, 110 Callaghan Rd Oil/Water Separator (CA-OW1)4Price Per Service\$1,120.003Callaghan SC, 110 Callaghan Rd Oil/Water Separator (CA-OW1)4Price Per Service\$1,120.00Subtotal\$4,480.00Auto Car Wash (CA-ACW) Price Per Service6Subtotal\$3,024.00Manual Carwash (CA-MCW) Price Per Service6\$1,680.00\$10,080.00	\$1,830.00
Price Per Service\$\$60.00Subtotal\$2,240.00Oil Sump Trap (TY-OST1)4Price Per Service\$840.00Subtotal\$3,360.00Oil Sump Trap (TY-OST2)4Price Per Service\$280.00Subtotal\$1,120.003Callaghan SC, 110 Callaghan Rd Oli/Water Separator (CA-OW1)4Price Per Service\$1,120.00Subtotal\$4,480.00Auto Car Wash (CA-ACW)6Price Per Service\$504.00Subtotal\$3,024.00Manual Carwash (CA-MCW)6Price Per Service\$1,680.00Subtotal\$10,080.00	\$7,320.00
Subtotal\$2,240.00Oil Sump Trap (TY-OST1) Price Per Service Subtotal4Subtotal\$3,360.00Oil Sump Trap (TY-OST2) Price Per Service Subtotal4Subtotal\$280.003Callaghan SC, 110 Callaghan Rd Oil/Water Separator (CA-OW1) Price Per Service4Auto Car Wash (CA-ACW) Price Per Service Subtotal6Manual Carwash (CA-MCW) Price Per Service6Subtotal\$1,680.00Subtotal\$1,680.00	\$1,830.00
Price Per Service \$\$40.00 Subtotal \$3,360.00 Oil Sump Trap (TY-OST2) 4 Price Per Service \$280.00 Subtotal \$1,120.00 3 Callaghan SC, 110 Callaghan Rd Oil/Water Separator (CA-OW1) 4 Price Per Service \$1,120.00 Subtotal \$4,480.00 Auto Car Wash (CA-ACW) 6 Price Per Service \$504.00 Subtotal \$3,024.00 Manual Carwash (CA-MCW) 6 Price Per Service \$1,680.00 Subtotal \$10,080.00	\$7,320.00
Subtotal \$3,360.00 Oil Sump Trap (TY-OST2) 4 Price Per Service \$280.00 Subtotal \$1,120.00 3 Callaghan SC, 110 Callaghan Rd Oil/Water Separator (CA-OW1) 4 Price Per Service \$1,120.00 Subtotal \$1,120.00 Auto Car Wash (CA-ACW) 6 Price Per Service \$504.00 Subtotal \$3,024.00 Manual Carwash (CA-MCW) 6 Price Per Service \$1,680.00 Subtotal \$10,080.00	¢2 200 00
Price Per Service \$280.00 Subtotal \$1,120.00 3 Callaghan SC, 110 Callaghan Rd \$1,120.00 Oil/Water Separator (CA-OW1) 4 Price Per Service \$1,120.00 Subtotal \$4,480.00 Auto Car Wash (CA-ACW) 6 Price Per Service \$504.00 Subtotal \$3,024.00 Manual Carwash (CA-MCW) 6 Price Per Service \$1,680.00 Subtotal \$10,080.00	\$2,380.00 \$9,520.00
Subtotal \$1,120.00 3 Callaghan SC, 110 Callaghan Rd Oil/Water Separator (CA-OW1) 4 Price Per Service \$1,120.00 Subtotal \$4,480.00 Auto Car Wash (CA-ACW) 6 Price Per Service \$504.00 Subtotal \$3,024.00 Manual Carwash (CA-MCW) 6 Price Per Service \$1,680.00 Subtotal \$10,080.00	
Oil/Water Separator (CA-OW1) 4 Price Per Service \$1,120.00 Subtotal \$4,480.00 Auto Car Wash (CA-ACW) 6 Price Per Service \$504.00 Subtotal \$3,024.00 Manual Carwash (CA-MCW) 6 Price Per Service \$1,680.00 Subtotal \$10,080.00	\$1,280.00 \$5,120.00
Price Per Service \$1,120.00 Subtotal \$4,480.00 Auto Car Wash (CA-ACW) 6 Price Per Service \$504.00 Subtotal \$3,024.00 Manual Carwash (CA-MCW) 6 Price Per Service \$1,680.00 Subtotal \$10,080.00	
Subtotal \$4,480.00 Auto Car Wash (CA-ACW) 6 Price Per Service \$504.00 Subtotal \$3,024.00 Manual Carwash (CA-MCW) 6 Price Per Service \$1,680.00 Subtotal \$10,080.00	\$2,930.00
Price Per Service \$504.00 Subtotal \$3,024.00 Manual Carwash (CA-MCW) 6 Price Per Service \$1,680.00 Subtotal \$10,080.00	\$11,720.00
Subtotal \$3,024.00 Manual Carwash (CA-MCW) 6 Price Per Service \$1,680.00 Subtotal \$10,080.00	\$1,720.00
Price Per Service \$1,680.00 Subtotal \$10,080.00	\$10,320.00
Subtotal \$10,080.00	¢4,000,00
4 Southeast SC. 7402 S. New Braunfels	\$4,030.00 \$24,180.00
Oil/Water Separator (SE-OW1) 4 Price Per Service \$560.00	\$1,830.00
Subtotal \$2,240.00	\$7,320.00
Oil/Water Separator (SE-OW2) 4 Price Per Service \$560.00	\$1,830.00
Subtotal \$2,240.00	\$7,320.00
Manual Carwash (SE-MCWGT) 6	* 0.400.00
Price Per Service \$1,400.00 Subtotal \$8,400.00	\$3,480.00 \$20,880.00

Opened:	May 11, 2015			
For:	Annual Contract for Mud Sump Service & Drain Line Cleaning			
			LOCAL	NON-LOCAL
			SOS Liquid Waste Haulers, Ltd. Co.	Liquid Environmental Solutions of Texas LLC
6100005424	1	HH	1375 Creekview	7651 Esters Blvd, Suite 200
		Estimated Annual	San Antonio, TX 78219	Irving,
ltem	Description	Quantity	210-342-5257	TX 75063
	Fuel Island Sump (SE-FISMP1) Price Per Service Subtotal	6	\$280.0 \$1,680.0	
	Manhole (SE-CWMH1) Price Per Service Subtotal	4	\$1,120.0 \$4,480.0	
5	Northwest SC, 7000 Culebra Lateral (NW-L1) Price Per Service Subtotal	6	\$631.1 \$3,786.7	
	Carwash 1 (NW-CW1) Price Per Service	6	\$326.4	8 \$1,371.30
	Subtotal Wash Stall 1 (NW-WS1) Price Per Service	6	\$1,958.8 \$192.6	
6	Price Per Service Subtotal Public Safety HQ, 515 S. Frio		\$192.6 \$1,155.8	
0	Auto Car Wash (PS-C1) Price Per Service Subtotal	6	\$560.0 \$3,360.0	
7	Police Northwest, 5020 Prue Rd Carwash (PNV-C1) Price Per Service Subtotal	6	\$234.0 \$1,404.4	
8	Police South, 711 W. Mayfield Carwash (PS-C1) Price Per Service Subtotal	6	\$234.0 \$1,404.4	
9	Police East, 3635 E. Houston Carwash (PE-C1) Price Per Service Subtotal	6	\$234.0 \$1,404.4	
10	Bitters Recycling Complex, 1800 Wurzbach Pkwy 2000 gallon tank (Bit-01) Price Per Service Subtotal	4	\$1,120.0 \$4,480.0	
	2000 gallon tank (Bit-02) Price Per Service	4	\$1,120.0	0 \$2,930.0
	Subtotal Total Section 1		\$4,480.0 \$98,026.88	0 \$11,720.0 \$300,590.80
Section 2	Fire Department Facilities Price per gallon for servicing Fire Dept facilities Minimum number of gallons charged per service	2500	\$0.5 50	0 50
	Subtotal Total Section 2		\$1,400.0 \$1,400.00	0 \$6,400.0 \$6,400.00
Section 3 1	Parks & Recreation Facilities McAllister Park Restroom #1, 13102 Jones Maltsberger 750 gallon tank (MP1-S1) Price Per Service Subtotal	2	\$165.0 \$330.0	
	750 gallon tank (MP1-S2) Price Per Service Subtotal	2	\$165.0 \$330.0	
2	McAllister Park Restroom #4, 13102 Jones Maltsberger 750 gallon tank (MP4-S3) Price Per Service Subtotal	2	\$165.0 \$330.0	
	750 gallon tank (MP4-S4) Price Per Service Subtotal	2	\$165.0 \$330.0	
3	McAllister Park Restroom #5, 13102 Jones Maltsberger 750 gallon tank (MP5-S5) Price Per Service Subtotal	2	\$165.0 \$330.0	
	750 gallon tank (MP5-S6) Price Per Service Subtotal	2	\$165.0 \$330.0	
4	Medina River Natural Area, 15890 Hwy 16 South 2 tanks at 500 gallons each (N/A) Price Per Service Subtotal	2	\$220.0 \$440.0	

Opened:	May 11, 2015		1		
For:	Annual Contract for Mud Sump Service & Drain Line				
	Cleaning		LOCAL	NON-LOCAL	
			SOS Liquid Waste Haulers, Ltd. Co.	Liquid Environmental Solutions of Texas LLC	
6100005424	1	НН	1375 Creekview	7651 Esters Blvd, Suite 200	
		Estimated Annual	San Antonio, TX 78219	Irving,	
Item	Description	Quantity	210-342-5257	TX 75063	
5	Commander's House, 647 S. Main St. 1 tank at 20 gallons Grease Trap (N/A) Price Per Service Subtotal	2	\$150.00 \$300.00		
6	Brackenridge Park, 3500 N. St. Mary's 2 Sewer Lift Stations (N/A) Price Per Service Subtotal	2	\$220.00 \$440.00		
7	Martin Luther King Park, 3503 MLK Drive 1 Sewer Lift Station (N/A) Price Per Service Subtotal	2	\$220.00 \$440.00		
8	Friedrick Park, 21395 Milsa 1 Tank at 1000 gallons (FP-S1) Price Per Service Subtotal	2	\$220.00 \$440.00	\$730.00	
	Additional services Price per gallon for additional service Price Per Service	1000	\$0.22 \$220.00	\$2.56 \$2,560.00	
Section 4	Total Section 3 Aviation Department Grease Vats in Terminal A		\$4,260.00	\$29,760.00	
	TA Basement (1000 gallons) Price Per Service Subtotal	12	\$545.00 \$6,540.00		
	TA Below Gate 3 (500 gallons) Price Per Service Subtotal	12	\$272.50 \$3,270.00		
	TA Below Gate 14 (500 gallons) Price Per Service Subtotal	12	\$272.50 \$3,270.00	\$500.00 \$6,000.00	
	TA Below Gate 11 (500 gallons) Price Per Service Subtotal	12	\$272.50 \$3,270.00		
	TA Below Gate 11 (1000 gallons) Price Per Service Subtotal	12	\$545.00 \$6,540.00		
	Grease Vats in Terminal B On AOA, next to TB Gate 1 (1500 gallons) Price Per Service Subtotal	12	\$817.50 \$9,810.00		
2	Storm Lift Station Cleaning Terminal A Basement (1) (5000 gallons) Price Per Service Subtotal	2	\$2,200.00 \$4,400.00		
	Terminal A Basement (2) (2000 gallons) Price Per Service Subtotal	2	\$1,540.00 \$3,080.00		
	Terminal A Basement (3) (3000 gallons) Price Per Service Subtotal	2	\$660.00 \$1,320.00		
	Storm Lift Stations Parking Garage East End of Short Term (5000 gallons) Price Per Service Subtotal	2	\$2,200.00 \$4,400.00		
	West End of Short Term (3000 gallons) Price Per Service Subtotal	2	\$1,760.00 \$3,520.00		
	Storm Lift Stations Terminal B Basement Elevator 1&2 (500 gallons) Price Per Service Subtotal	2	\$1,230.00 \$2,460.00		
	Basement Elevator 3&4 (500 gallons) Price Per Service Subtotal	2	\$1,230.00 \$2,460.00		
	Basement Elevator 6 (300 gallons) Price Per Service Subtotal	2	\$1,230.00 \$2,460.00		
	Basement Elevator 6 (250 gallons) Price Per Service Subtotal	2	\$1,230.00 \$2,460.00		

Opened:	May 11, 2015]	
For:	Annual Contract for Mud Sump Service & Drain Line Cleaning			
	-		LOCAL SOS Liquid Waste Haulers, Ltd. Co.	NON-LOCAL Liquid Environmental Solutions of
			SOS Liquid Waste Haulers, Ltd. Co.	Texas LLC
6100005424		HH	1375 Creekview	7651 Esters Blvd, Suite 200
		Estimated	San Antonio,	
Item	Description	Annual Quantity	TX 78219 210-342-5257	Irving, TX 75063
3	Sewage Lift Station Terminal A TA Basement (5000 gallons) Price Per Service Subtotal	2	\$1,100.00 \$2,200.00	
	Sewage Lift Staions Terminal B Basement Elevators 3&4 (500 gallons) Price Per Service Subtotal	2	\$1,230.00 \$2,460.00	\$1,580.00
	Basement Elevator 6 (250 gallons) Price Per Service Subtotal	2	\$1,230.00 \$2,460.00	
	Sewer Lift Station at 1039 Next to Front Door (500 gallons) Price Per Service Subtotal	2	\$130.00 \$260.00	
	Sewer Lift Station at CUP Between CUP & PM Trailer (50 gallons) Price Per Service Subtotal	2	\$130.00 \$260.00	
	Triturator Sewer Lift Station On AOA, Near Gte 20 (2000 gallons) Price Per Service Subtotal Total Section 4	4	\$440.00 \$1,760.00 \$68,660.00	
Section 5	Additional Services			
1A	Hydro-Jetting in conjunction with additional service, per hour Price Per Service	5	\$300.00 \$1,500.00	
1B	Hydro-Jetting alone, per hour Price Per Service	5	\$300.00 \$1,500.00	
1C	Minimum hour charge for Hydro-Jetting service		\$300.00	\$1400.00, minimum hour
2	Class I hazardous liquid waste multiplier		80%	10%
3	Sample and profile waste per sump Price Per Service	25	\$425.00 \$10,625.00	
				Additional gallons pulled will be charge \$1.10 PPG If a trap is rated at 1,000 gallons but are backing up & we pick up an extra 200 gallons we will invoice for the additional gallons at a rate of \$1.10 price per gallon.
	Prompt Payment Discount		Net 30	Net 30
	Annual Total for the Contract (Sections 1-4) Estimated Annual Award		\$172,346.88 \$172,346.88	
	Estimateu Annual Awaru		¢172,346.88	<u> </u>